
Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

0 200 400 600
 Channel Number

0.12

0.13

0.14

0.15

 M
as

s 
(G

eV
)

γ
 2

Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE) Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

0 200 400 600
 Channel Number

0

0.005

0.01

0.015

 W
id

th
 (

G
eV

)
γ

 2

Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE) S/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

0 200 400 600
 Channel Number

0

1

2

3

4

5

 S
ig

na
l t

o 
B

ac
kg

ro
un

d

S/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
 Mass (GeV)γ 2

1000

1500

2000

2500

3000

3
10×

 C
ou

nt
s 

/ 0
.7

 M
eV

Pi0 Mass (Iteration0)
Entries    4.437659e+08

 / ndf 2χ  2.972e+04 / 165
Prob       0
p0        1.434e+06
p1        0.1345
p2        0.008189
p3        5.918e+05
p4        0.01541
p5       2.991e+07− 
p6        8.066e+06
p7        5.233e+05

Pi0 Mass (Iteration0)



Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

0 200 400 600
 Channel Number

0.12

0.13

0.14

0.15

 M
as

s 
(G

eV
)

γ
 2

Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE) Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

0 200 400 600
 Channel Number

0

0.005

0.01

0.015

 W
id

th
 (

G
eV

)
γ

 2

Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE) S/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

0 200 400 600
 Channel Number

0

1

2

3

4

5

 S
ig

na
l t

o 
B

ac
kg

ro
un

d

S/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

Entries    4.437659e+08
 / ndf 2χ  2.972e+04 / 165

Prob       0
p0        1.434e+06
p1        0.1345
p2        0.008189
p3        5.918e+05
p4        0.01541
p5       2.991e+07− 
p6        8.066e+06
p7        5.233e+05

0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
 Mass (GeV)γ 2

1000

1500

2000

2500

3000

3
10×

 C
ou

nt
s 

/ 0
.7

 M
eV

Pi0 Mass (Iteration1)
Entries    4.438616e+08

 / ndf 2χ  2.973e+04 / 165
Prob       0
p0        1.432e+06
p1        0.1345
p2        0.00819
p3        5.927e+05
p4        0.0154
p5       3e+07− 
p6        8.096e+06
p7        5.211e+05

Pi0 Mass (Iteration1)



Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

0 200 400 600
 Channel Number

0.12

0.13

0.14

0.15

 M
as

s 
(G

eV
)

γ
 2

Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE) Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

0 200 400 600
 Channel Number

0

0.005

0.01

0.015

 W
id

th
 (

G
eV

)
γ

 2

Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE) S/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

0 200 400 600
 Channel Number

0

1

2

3

4

5

 S
ig

na
l t

o 
B

ac
kg

ro
un

d

S/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

Entries    4.438616e+08
 / ndf 2χ  2.973e+04 / 165

Prob       0
p0        1.432e+06
p1        0.1345
p2        0.00819
p3        5.927e+05
p4        0.0154
p5       3e+07− 
p6        8.096e+06
p7        5.211e+05

0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
 Mass (GeV)γ 2

1000

1500

2000

2500

3000

3
10×

 C
ou

nt
s 

/ 0
.7

 M
eV

Pi0 Mass (Iteration2)
Entries    4.438631e+08

 / ndf 2χ  2.975e+04 / 165
Prob       0
p0        1.432e+06
p1        0.1345
p2        0.00819
p3        5.928e+05
p4        0.0154
p5       3.002e+07− 
p6        8.102e+06
p7        5.207e+05

Pi0 Mass (Iteration2)



0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2 2.2

134.46

134.47

134.48

134.49

134.5

134.51

134.52

134.53

134.54

134.55

 fit mean vs. Iterationγ2  fit mean vs. Iterationγ2

0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2 2.2

8.175

8.18

8.185

8.19

8.195

8.2

8.205

 fit sigma vs. Iterationγ2  fit sigma vs. Iterationγ2

0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2 2.2

0.0608

0.06085

0.0609

0.06095

0.061

 fit sigma over mean vs. Iterationγ2  fit sigma over mean vs. Iterationγ2



0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2 2.2
0.0574

0.05745

0.0575

0.05755

0.0576

 vs. Iteration (E1, E2 > 500 MeV)µ/σ  vs. Iteration (E1, E2 > 500 MeV)µ/σ

0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2 2.2

0.0534

0.05345

0.0535

0.05355

0.0536

 vs. Iteration (E1, E2 > 700 MeV)µ/σ  vs. Iteration (E1, E2 > 700 MeV)µ/σ

0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2 2.2

0.0511

0.05115

0.0512

0.05125

0.0513

0.05135

 vs. Iteration (E1, E2 > 900 MeV)µ/σ  vs. Iteration (E1, E2 > 900 MeV)µ/σ

0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2 2.2

0.0495

0.04955

0.0496

0.04965

0.0497

0.04975

0.0498

0.04985

 vs. Iteration (E1, E2 > 1100 MeV)µ/σ  vs. Iteration (E1, E2 > 1100 MeV)µ/σ



0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
) [GeV]γm(2

200

400

600

800

1000

1200

1400

1600
310×
Mass Spectum for final iteration (E1, E2 > 500 MeV)

Entries    1.545328e+08
 / ndf 2χ  1.456e+04 / 165

Prob       0
p0        8.807e+05
p1        0.1352
p2        0.007779
p3        3.334e+05
p4        0.01503
p5       1.552e+07− 
p6        5.349e+06
p7       1.077e+05− 

 0.009 %± = 5.752 µ/σFit 

Mass Spectum for final iteration (E1, E2 > 500 MeV)

0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
) [GeV]γm(2

0

100

200

300

400

500

600
310×
Mass Spectum for final iteration (E1, E2 > 700 MeV)

Entries    4.482204e+07
 / ndf 2χ   8624 / 165

Prob       0
p0        3.638e+05
p1        0.1359
p2        0.007276
p3        1.257e+05
p4        0.0145
p5       5.082e+06− 
p6        1.724e+06
p7       5.453e+04− 

 0.010 %± = 5.352 µ/σFit 

Mass Spectum for final iteration (E1, E2 > 700 MeV)

0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
) [GeV]γm(2

0
20
40
60
80

100
120
140
160
180
200
220
240

310×
Mass Spectum for final iteration (E1, E2 > 900 MeV)

Entries    1.484658e+07
 / ndf 2χ   5068 / 165

Prob       0
p0        1.564e+05
p1        0.1363
p2        0.006983
p3        4.81e+04
p4        0.01437
p5       1.716e+06− 
p6        5.885e+05
p7       2.283e+04− 

 0.012 %± = 5.124 µ/σFit 

Mass Spectum for final iteration (E1, E2 > 900 MeV)

0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
) [GeV]γm(2

0

20

40

60

80

100
310×
Mass Spectum for final iteration (E1, E2 > 1100 MeV)

Entries  5300727
 / ndf 2χ   2770 / 165

Prob       0
p0        6.754e+04
p1        0.1364
p2        0.006778
p3        1.923e+04
p4        0.0142
p5       5.904e+05− 
p6        2.062e+05
p7       8981− 

 0.016 %± = 4.969 µ/σFit 

Mass Spectum for final iteration (E1, E2 > 1100 MeV)



0 200 400 600 800 1000 1200 1400 16000.08−

0.06−

0.04−

0.02−

0

0.02

0.04

0.06

0.08
3−10×

G
ai

n 
- 

cu
rr

en
t c

cd
b 

co
ns

ta
nt

Current iteration (Blue), last iteration (Green), and current ccdb constants (Red)Current iteration (Blue), last iteration (Green), and current ccdb constants (Red)

0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
3−10×

0

10

20

30

40

50

Current iteration (Blue) and current ccdb constants (Red)

Entries  1536

Current iteration (Blue) and current ccdb constants (Red)

0.06− 0.04− 0.02− 0 0.02 0.04 0.06
3−10×

0

100

200

300

400

500

600

700

800

900

Current iteration[i] - last iteration[i] gain constants

Entries  1536

Current iteration[i] - last iteration[i] gain constants

0.06− 0.04− 0.02− 0 0.02 0.04 0.06
3−10×

0

200

400

600

800

1000

1200

Current iteration[i] - current ccdb[i] gain constants

Entries  1536

Current iteration[i] - current ccdb[i] gain constants


	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7


